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QUESTION 1

Click the Exhibit button.

(missing the Exhibit)

Referring to the exhibit, what is a valid storage failover scenario?
A. Node 1 fails and Node 2 takes over Node 1\\'s storage.

B. Node 2 fails and Node 3 takes over Node 2\\'s storage.

C. Node 3 fails and Node 1 takes over Node 3\\'s storage.

D. Node 4 fails and Node 2 takes over Node 4\\'s storage.

Correct Answer: A

QUESTION 2

You have a new cluster and must create a LIF on a port that uses LACP and VLAN. What is the correct order of network
tasks that are required before you create the LIF?

A. ifgroup -> VLAN -> add port to broadcast domain
B. VLAN -> ifgroup -> add port to broadcast domain
C. add port to broadcast domain ?ifgroup >; VLAN

D. add port to broadcast domain -> VLAN -> ifgroup

Correct Answer: A

QUESTION 3

You are using an AFF A700.

In this scenario, which two default storage efficiency techniques will help save space? (Choose two.)
A. postprocess deduplication

B. inline deduplication

C. postprocess compaction

D. inline compression

Correct Answer: BD
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QUESTION 4

You use the Automated Workload Analyzer (AWA) to identify workloads that would benefit from which feature?
A. Flash Pool aggregates

B. Advances Disk Partitioning

C. storage efficiency

D. FabricPool capacity tier

Correct Answer: A

QUESTION 5

What are three advantages of configuring network subnets? (Choose three.)
A. The default gateway is automatically added to the SVM.

B. The DNS zone is automatically set on the NAS LIF.

C. The subnet mask is automatically set on the NAS LIF.

D. The flow control is automatically set on the port.

E. The IP address is automatically set on the NAS LIF.

Correct Answer:. ABE

Latest NS0-159 Dumps NSO0-159 Practice Test NS0-159 Braindumps

Latest NS0-159 Dumps | NS0-159 Practice Test | NS0-159 Braindumps 3/3


https://www.leads4pass.com/ns0-159.html
https://www.leads4pass.com/ns0-159.html
https://www.leads4pass.com/ns0-159.html
http://www.tcpdf.org
https://www.leads4pass.com/ns0-159.html
https://www.leads4pass.com/ns0-159.html
https://www.leads4pass.com/ns0-159.html

